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The  voyage  of  nuclear  fusion  has  started 
about  60  years  ago  (Sacharov,  Teller, 
…)   and  despite  many  progress  has 
mainly provided disillusions…

50  years  ago  the  laser  was  invented, 
opening  the  f ie ld  of  “ Inert ia l 
Fusion” (Basov, Nuckolls, …)

Today  we  are  probably  close  to  the 
demonstration of ignition, the scientific 
feasibility of fusion, which will conclude 
the first part of this travel.

2 



D.Batani, 1. Introduction to Fusion, 2016

Weizsaker semiempirical mass formula
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Eléments de base de la fusion inertielle

1.1 Réactions de fusion

1.1.1 Énergie des réactions de fusion

Les réactions de fusion thermonucléaire constituent en transformation de deux noyaux légers
pendant la collision dans un noyau plus massif. L’énergie de liaison d’un noyau AN

Z

est caractérisée
par le défaut des masse, lequel est défini comme la di↵érence entre la masse totale des constituants,
des protons m

p

et des neutrons m
n

, et la masse de noyau,

�mA

Z

= Zm
p

+ (A� Z)m
n

�mA

Z

.

Le dépendance de l’énergie de liaison rapportée par le nombre total des nucléons, BA

Z

= �mA

Z

c2/A
est présentée dans la figure 1. Plus cette énergie soit importante, plus le noyau soit solide.

L’énergie de liaison augmente avec le numéro atomique jusqu’au fer, 56Fe
28

, et puis elle diminue
légèrement. Par conséquent, la fusion les noyaux plus légers jusqu’au fer est la réaction exother-
mique, elle libère la di↵érence des énergies de liaison dans la forme de l’énergie cinétique des noyaux
- produits de la réaction. Pour une réaction donnée, la figure 1 permet de définir l’énergie cinétique
des produits. Par exemple, la fusion de deux noyaux de deutérium peut donner la particule ↵ – le
noyau de hélium et le défaut d’énergie est emportée par le photon. L’énergie de photon soit :

"
�

= 4B4

2

� 2⇥ 2⇥B2

1

= 4⇥ 7.1� 2⇥ 2⇥ 1.1 = 24MeV.

(Le calcul exact donne 23.85 MeV. C’est une réaction très peu probable.)
La spécificité des réactions de fusion est ce qu’elles se produisent entre les particules de la même

charge électrique, qui se repoussent par la force électrique. Pour la combattre, les particules doivent
se rapprocher avec une énergie cinétique su�sante, de l’ordre de quelques centaines de keV ou plus.
La fusion est presque impossible pour les énergie cinétique relative inférieure d’un keV.
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Figure 1 – Dépendance de l’énergie de liaison rapportée par le nombre des nucléons avec la masse
de noyau (la source : Wikipedia http ://fr.wikipedia.org/wiki).

La fusion est le processus le plus répandu dans l’univers. Les réactions de fusion fournissent
l’énergie des étoiles, maintiennent une température élevée à l’intérieur des objets cosmiques et
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28

, et puis elle diminue
légèrement. Par conséquent, la fusion les noyaux plus légers jusqu’au fer est la réaction exother-
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de noyau (la source : Wikipedia http ://fr.wikipedia.org/wiki).

La fusion est le processus le plus répandu dans l’univers. Les réactions de fusion fournissent
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Weizsaker semiempirical mass formula
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E=mc2 
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Thermonuclear Fusion:

5 

D + T → He4 + n + 17,6 MeV 

1/5 (17.6 MeV) = 3.5 MeV  
for the α particle 
 
4/5 (17.6 MeV) = 14.1 MeV  
for the neutron 
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Coulomb repulsion:
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Reaction probability 
and cross section:
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n1v = #/cm2sec = flux of incident particles
σ  has the units of surface (cm2)
n1 σ = total “covered” surface per unit volume.

! !"
!" = !! ! !!!!!!!!

 

v

n1, n2 densities of particles of 
species 1 and 2 (#/cm3)

dn/dt number of reaction per 
unit volume and unit time

n1
 n2 
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D + D → T + H1 + 4,03 MeV 
D + D → He3 + n + 3,27 MeV 
 
D + He3 → He4 + H1 + 18,3 MeV 
 
D + T → He4 + n + 17,6 MeV 

D-T fusion reaction has a 
larger probability and peaks 
at lower energy
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Reaction rate:
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In a plasma we must average the cross section over the 
distribution of velocities

du fait que les collisions élastiques sont beaucoup plus fréquentes que les collisions de fusion et
que ces collisions élastiques conduisent les particules de plasma en équilibre thermodynamique,
caractérisé par la fonction distribution maxwellienne en vitesses. Par conséquent, le nombre des
réactions de fusion peut être déduit de l’équation (2.2) en faisant le moyen du produit �v moyenné
sur la distribution maxwellienne, f

M

(v) = (2⇡)�3/2 exp(�m
r

v2/2T )

h�vi = 4⇡

Z 1

0
v3�(v) f

M

(v) dv. (2.3)

Ici, m
r

= m
D

m
T

/(m
D

+ m
T

) = 1.2m
p

est la masse réduite des particules, T est la température
du combustible et h�vi est appelé le taux de réaction. En di↵érence de � qui dépend de la vitesse
relative, le taux de réaction h�vi dépend de la température de combustible. Pour la réaction DT,
la valeur maximale du taux est de l’ordre de 0.9 ⇥ 10�15 cm3/s pour la température des ions T

i

de l’ordre de 50 keV. C’est une température très élevée et très di�cile d’atteindre en laboratoire
(et aussi dans les étoiles). Le figure 9 montre les sections e�caces et les taux de réactions pour la
réaction DT (2.1) et aussi pour la réaction DD (2.7) et la réaction D3He discutées à la fin de cette
section.

Réactions principaux de fusion

La répartition de l’énergie 
entre des produits de 
réaction est en proportion 
inverse de ses masses 

Avantages et problèmes de la fusion 
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Figure 9 – a) Sections e�caces de trois réactions de fusion le plus importantes en fonction de
l’énergie cinétique de la particule incidente (deutéron). b) Les taux de réaction pour les mêmes
réaction de fusion en supposant la distribution maxwellienne des particules en vitesse.

a b

En pratique, la température de quelques keV est su�sante pour déclencher (allumer) les réactions,
et la combustion se produite pour les températures de quelques dizaines de keV. Une autre formule
analytique approchée peut être utilisée pour le taux des réactions DT dans le domaine d’intérêt
entre 3 et 100 keV avec la précision de 10% :

h�
DT

vi ' 9.1⇥ 10�16 exp
⇣
�0.572 |ln(TkeV/64.2)|2.13

⌘
cm3/s. (2.4)

Pour des estimations qualitatives on peut utiliser des formules plus simples. Dans le domaine
des basses températures intéressantes pour l’allumage entre 3 et 8 keV le taux des réactions DT
crôıt comme la température en puissance trois,

h�
DT

vi ' Cb

DT

T 3 = 1.1⇥ 10�19T 3
keV cm3/s. (2.5)

25

At low temperature the 
main contribution to 
fusion reactions comes 
from ions in the 
distribution tail
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Fusion needs 
high 
temperatures
(T> 5 keV)

109 K ≈ 105 eV =100 keV
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Reaction rate:
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3-100 keV

DT reaction
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Figure 9 – a) Sections e�caces de trois réactions de fusion le plus importantes en fonction de
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Dans la domaine des températures plus élevées entre 8 et 20 keV intéressantes pour la combustion
on peut utiliser l’interpolation en puissance de T 2 :

h�
DT

vi ' C
DT

T 2 = 1.1⇥ 10�18T 2
keV cm3/s. (2.6)

L’énergie totale dégagée dans cette réaction est E
DT

= 17.6 MeV distribuée entre la particule ↵
et le neutron en rapport 1 : 4 qui est inverse de leurs masses. Parmi les autres réactions de fusion
en laboratoire il faut mentionner la fusion DD. Bien que le taux de cette réaction est environ deux
ordres de magnitude inférieur de la réaction DT pour les températures des dizaines de keV et elle
n’est pas intéressante pour la production de l’énergie, cette réaction est souvent utilisée pour le
diagnostic des plasmas de fusion. Il est plus pratique de travailler en quotidien avec le deutérium
et, en mesurant les neutrons produits de la fusion DD, on peut déduire les paramètres du plasma
et de recalculer la production de l’énergie dans les mêmes conditions si la moitié des noyaux de
deutérium soit remplacés par le tritium.

La fusion DD se produit sur deux canaux

D + D !
⇢

T+ p
3He + n

(2.7)

avec la probabilité 1 :1. L’énergie de neutron est 2.45 MeV et c’est la signature particulière de la
réaction DD. Le taux de la réaction D + D ! 3He + n dans l’intervalle inférieure à 50 keV peut
être approche par la formule suivante :

h�
DDn

vi ' 2.7⇥ 10�14T
�2/3
keV exp

⇣
�19.8T�1/3

keV

⌘
cm3/s. (2.8)

Le fait que le neutron est une particule neutre lui permet de s’échapper facilement du système de
confinement et d’être observé par un diagnostic. Cela est convenable pour la recherche en laboratoire
mais est un facteur désavantageux pour la production de l’énergie. Les matériaux de construction
deviennent radioactifs et vieillissent rapidement sous le rayonnement intense neutronique. Cela
explique partiellement des di�cultés de la réalisation de la fusion thermonucléaire par rapport de
la fission. La production de l’énergie basée sur la réaction DT est certainement plus propre que les
réactions de fission, parce que la période de décroissance des déchets sera beaucoup plus courte,
mais il faudra toujours atteindre des plusieurs centaines d’années pour réduire l’activité des déchets
d’un réacteur de fusion.

Il existe des réactions de la fusion avec des produits tous chargés et donc qui pourront être
confinés et ne pas induire la radioactivité secondaire. Deux réactions de ce type sont connues : D +
3He ! ↵ + p avec l’énergie libérée de 18.35 MeV et p + 11B ! 3↵ avec l’énergie de 8.6 MeV. Si
l’on utilisera une de ces réactions en laboratoire, la fusion aura la chance de devenir d’un procédé
propre sans de la production des déchets radioactifs. Mais c’est défi encore beaucoup plus exigeant
que la fusion DT. Le taux de ces réactions devient intéressant seulement pour les températures
de plasma supérieures à 100 keV. Ces réactions ne font pas encore l’actualité dans la fusion par
confinement inertiel (FCI). La démonstration de l’allumage des réactions DT est considérée comme
une première étape importante pour la production de l’énergie et en toute évidence elle sera utilisée
dans les premières centrales électriques.

2.2 Production de l’énergie avec la fusion inertielle

2.2.1 Temps de confinement inertiel

Admettons que nous avons réussi d’assembler le combustible – le mélange des atomes de
deutérium et tritium en quantités égales – dans une sphère homogène d’un rayon R

f

de la densité

26

Dans la domaine des températures plus élevées entre 8 et 20 keV intéressantes pour la combustion
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La fusion DD se produit sur deux canaux

D + D !
⇢

T+ p
3He + n

(2.7)

avec la probabilité 1 :1. L’énergie de neutron est 2.45 MeV et c’est la signature particulière de la
réaction DD. Le taux de la réaction D + D ! 3He + n dans l’intervalle inférieure à 50 keV peut
être approche par la formule suivante :

h�
DDn

vi ' 2.7⇥ 10�14T
�2/3
keV exp

⇣
�19.8T�1/3

keV

⌘
cm3/s. (2.8)

Le fait que le neutron est une particule neutre lui permet de s’échapper facilement du système de
confinement et d’être observé par un diagnostic. Cela est convenable pour la recherche en laboratoire
mais est un facteur désavantageux pour la production de l’énergie. Les matériaux de construction
deviennent radioactifs et vieillissent rapidement sous le rayonnement intense neutronique. Cela
explique partiellement des di�cultés de la réalisation de la fusion thermonucléaire par rapport de
la fission. La production de l’énergie basée sur la réaction DT est certainement plus propre que les
réactions de fission, parce que la période de décroissance des déchets sera beaucoup plus courte,
mais il faudra toujours atteindre des plusieurs centaines d’années pour réduire l’activité des déchets
d’un réacteur de fusion.

Il existe des réactions de la fusion avec des produits tous chargés et donc qui pourront être
confinés et ne pas induire la radioactivité secondaire. Deux réactions de ce type sont connues : D +
3He ! ↵ + p avec l’énergie libérée de 18.35 MeV et p + 11B ! 3↵ avec l’énergie de 8.6 MeV. Si
l’on utilisera une de ces réactions en laboratoire, la fusion aura la chance de devenir d’un procédé
propre sans de la production des déchets radioactifs. Mais c’est défi encore beaucoup plus exigeant
que la fusion DT. Le taux de ces réactions devient intéressant seulement pour les températures
de plasma supérieures à 100 keV. Ces réactions ne font pas encore l’actualité dans la fusion par
confinement inertiel (FCI). La démonstration de l’allumage des réactions DT est considérée comme
une première étape importante pour la production de l’énergie et en toute évidence elle sera utilisée
dans les premières centrales électriques.

2.2 Production de l’énergie avec la fusion inertielle

2.2.1 Temps de confinement inertiel

Admettons que nous avons réussi d’assembler le combustible – le mélange des atomes de
deutérium et tritium en quantités égales – dans une sphère homogène d’un rayon R

f

de la densité
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DD reaction

3-8 keV

8-20 keV

3-50 keV
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Plasma conditions for fusion: 
confinament time

Confinament time:

W      = internal energy per unit volume (J/m3)
Plosses = dissipated power per unit volume (this is mainly radiation losses
 due to bremsstrahlung).
τ      = the time over which the system is able to keep its energy)

Rate of energy production

12 

τ =
W
Plosses

W =
3
2
(ne + ni )kT( ) = 3neT (eV )

Pfusion = nDnT σ v Eα = 4ne
2 σ v Eα
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<σv> depends on T.

LAWSON’S CRITERIUM

13 

Pfusion > Plosses         ⇒
1
4
ne

2 σ v Eα > 3neT / τ

                        ⇒ neτ >12T / σ v Eα ≡ L

 [ Eα = 3.5 MeV ]
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For D-T at T = 25 KeV, Lawson’s criterium is :
ne τ > 1.5·1014 s/cm3

Is function of T and has a 
minimum  at  ≈  25  keV 
(2.910 

8 K) 
for D + T → 4He + n

14 

L ≡12T / σ v Eα
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Thermonuclear Fusion:
N e e d t o h a v e h i g h 
temperatures to overcome 
Coloumb repulsion

Tmin≈  5 - 10 keV

Need to have many fusion 
reactions to allow for 
energy gain, i.e. large 
number of particles and/or 
long confinement time. 
Lawson’s criterium 

ne τ ≈ 1.5 1014 s cm-3 

“Triple product” neτT ≥ 8 1014 s cm-3 keV 

15 
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Creating conditions for fusion:

  

Gravitational
Confinement

Heating 
Mechanisms:
* Compression 
(gravity)
* Fusion Reactions 
(such as the p-p 
chain)

Magnetic 
Confinement

* Electromagnetic Waves 
* Ohmic Heating (by electric 
currents) 
* Neutral Particle Beams 
(atomic hydrogen) 
* Fusion Reactions (D+T)  

Inertial 
Confinement

* Compression (implosion 
driven by laser, or by X-rays 
from laser, or by ion beams) 
* Fusion Reactions 
(primarily D+T)

16 
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Creating conditions for fusion:

17 

The secondary system (H-
bomb) is ignited by the 
explosion of a 
“conventional” nuclear 
bomb

For controlled nuclear 
fusion:
• Need to ignite small mass 
of fuel
• Need to ignite with 
different tools!
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Principio del Confinamento Inerziale

18 
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Lawson’s criterium for  
inertial fusion

19 

ICF      MCF

In ICFwe cannot reach 25 keV. Then
ne τ ≈ 6 1014 s cm-3
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Isothermal expansion of a gas

20 

n(x) = no exp(−x / L)

L = cs  t

cs = γZkT /m( )1/2

cs

to=0     t1    t2       t3  ….

Rarefaction (expansion) wave
Self-similar model
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ne τ ≈ 6 1014 s cm-3 
Disassembly time determined by the fuels inertia

Notice: 
in magnetic fusion the time  τ expresses the confinement of energy
In inertial fusion it refers to the confinement of mass

Lawson’s criterium for  
inertial fusion

21 

τ < R / cs      ⇒   we take τ = R / 4cs  

ion sound velocity in a plasma

cs = γZkTe /mi( )1/2
= 9.8   105 γZ  Te(eV ) /µ( )1/2 cm / s

   ≈ 7   107   cm / s  (for  T =10 keV)
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ne τ ≈ 6 1014 s cm-3 
Disassembly time determined by the fuels inertia

For typical ICF conditions

Lawson’s criterium for  
inertial fusion

22 

τ = R / 4cs               cs  ≈ 7   107   cm / s  (for  T =10 keV)

ne  = ni  = 2× ρ(g/cc)
2.5

 6.022   1023cm−3 = 4.8ρ    1023cm−3

neτ =1.5   1014 = 4.8ρ    1023( ) R / 4× 7.6   107( )

⇒ ρR =1.5  1014 × 4× 7 107 / 4.8   1023 ≈ 0.3 g/cm2
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ΦΒ    “burned fraction” of the fuel
Mf     mass of fuel (in g)

          fusion energy
           energy released in one reaction (17.6 MeV)

A few mg of DT are sufficient to produce an energy of several 100 MJ

To satisfy Lawson’s criterion (ρR > 0.3 g/cm2 ) at the density of solid D-T 
(ρsol = 0.25 g/cm3) would require R = 1 cm. This implies a large explosion.

Maximum released energy

23 

montre que la densité des noyaux disponibles pour la réaction décroit in proportion inverse du
temps. En tenant compte du fait que les réactions sont possibles seulement pendant le temps de
confinement, tconf = R

f

/4c
s

, nous obtenons le nombre total de réactions par l’unité de volume,
n
f

(tconf) = n
D0 � n

D

(tconf) et la fraction brûlée

�
B

= 1� n
D

(tconf)

n
D0

=
⇢
f

R
f

H
B

+ ⇢
f

R
f

. (2.12)

Elle dépend de la masse surfacique de combustible et de sa température. Par exemple, pour brûler
30% du combustible il faut avoir la masse surfacique au minimum 3 g/cm2. Le temps de confinement
inertiel, pour la masse surfacique donnée est inversement proportionnel à la densité de combustible.
Pour la température de l’ordre de 25 keV et la densité surfacique ⇢

f

R
f

= 3 g/cm2, le temps de
confinement t

conf

= 7/⇢
f

ns, où la densité est exprimée en g/cm3. C’est un temps très court, même
pour la densité de DT cryogénique de ⇢0 = 0.25 g/cm3, il est juste 30 ns.

2.3 Allumage du point chaud

2.3.1 Bilan de l’énergie dans le combustible

L’énergie totale produit par la fusion d’une masse M
f

= ⇢
f

V
f

est proportionnelle à la masse
totale et la fraction brûlée :

Efus = "
DT

N
f

=
M

f

2m
i

�
B

"
DT

= 3.4⇥ 105�
B

M
f

MJ (2.13)

où "
DT

= 17.6 MeV est l’énergie dégagée dans une réaction de la fusion et la masse est exprimée
en grammes dans la dernière relation. Alors, pour produire l’énergie de quelques centaines de MJ il
su�t de quelques milligrammes de combustible. C’est une sphère de DT solide de 1 mm en diamètre.
Donc, pour produire l’énergie de fusion utile il faut savoir travailler avec tout petits objets.

Dans les sections qui suivent toutes les applications numériques sont données dans les unités

suivantes : la masse est exprimée en grammes, la densité – en g/cm

3
, la pression – en Mbar,

l’énergie de combustible – en MJ et la température – en keV.

Il est important de noter que la masse surfacique de cette sphère de combustible solide, ⇢0R0,
est seulement 0.025 g/cm2 – cent fois inférieure de la valeur nécessaire pour la combustion e�cace.
Il est donc impossible de brûler le combustible solide. Une seule solution pour cette problème
est la compression du combustible. Pour une masse constante, la densité surfacique d’une sphère
augmente comme la densité dans la puissance deux tiers, ⇢R = 0.62M1/3⇢2/3. Pour augmenter la
masse surfacique par un facteur de cent, il faut comprimer le combustible mille fois, jusqu’à la
densité 250 g/cm3. Le rayon de cette sphère comprimée sera 0.1 mm et le temps de confinement
sera moins que 10 ps.

Ce calcul simple montre clairement les défis majeurs de la FCI, qui proviennent essentiellement
du fait que le taux de la réaction de fusion est trop faible. Il faut savoir de comprimer le combustible
mille fois, puis chau↵er le volume très petit jusqu’à la température d’allumage et surtout faire tout
cela sur le temps très court de quelques dizaines de picosecondes.

Regardons maintenant combien énergie il faut disposer pour amener le combustible aux condi-
tions d’allumage. Le travail de compression, p dV , selon les lois de thermodynamique est propor-
tionnel à la pression. Il est souhaitable de la garder la plus petite possible. La pression dépend
de la densité et de la température, par exemple, si la combustible peut être décrite comme un
gaz parfait, p = ⇢T/m

i

. Mais cette formule est valable pour les températures élevées quand les
particules suivent la distribution de Maxwell-Boltzmann en énergie. Pour des densités élevées qui
nous en intéressent, ce n’est pas le cas. Les e↵ets quantiques pour les particules de la masse m et la
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augmente comme la densité dans la puissance deux tiers, ⇢R = 0.62M1/3⇢2/3. Pour augmenter la
masse surfacique par un facteur de cent, il faut comprimer le combustible mille fois, jusqu’à la
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n
f

(tconf) = n
D0 � n

D

(tconf) et la fraction brûlée
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du fait que le taux de la réaction de fusion est trop faible. Il faut savoir de comprimer le combustible
mille fois, puis chau↵er le volume très petit jusqu’à la température d’allumage et surtout faire tout
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We need to calculate the “burned fraction” of the fuel

R(t) = Rf – cst            t=0 R=Rf            t=tmax R=0

Burning fraction in ICF 

24 

R(t) = Rf − cst                                  tmax = Rf / cs

Ntot =
1
2
niVf                  nD = nT = ni / 2              Vf =

4π
3
Rf

3

N f = nDnT σv 4π
3

Rf − cst( )0
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3

dt =

=
4π
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1
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$

%
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Burning fraction in ICF 

25 

Nion = ρ fVf /mi  =   niVf        total number of ions
Ntot = Nion / 2                        maximum number of reactions

N f =
π
3
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HB “combustion parameter” for a DT plasma fuel

Burning fraction in ICF 

26 

HB =
8mics
σv

≈  6  g / cm2

massique ⇢
f

et de la température T . Calculons combien de réactions de fusion peuvent se produire
si l’on laisse cette sphère en vide sans aucun confinement de l’extérieur.

La sphère peut être considérée comme une bulle de gaz qui va se détendre. Selon les équations
de l’ hydrodynamique, le front de détente se propage de la surface à l’intérieur avec la vitesse de
son, c

s

= (T/m
i

)1/2, où m
i

= 1
2(mD

+ m
T

) = 2.5m
p

est la masse moyenne du fuel. Ayant la
densité décroissante très vite dans la détente, il est su�t de supposer que les réactions de fusion se
produisent seulement dans la combustible non-perturbée, pour le rayon r inférieur à R(t) = R

f

�c
s

t.
Donc, en supposant que la température est constante et en intégrant le nombre des réactions par
le temps de t = 0 à tmax = R

f

/c
s

, on trouve
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où n
D

= n
T

= 1
2ni

sont les densités de deutérons et de tritons, N
tot

= 1
2ni

V
f

est le nombre total des
réactions de fusion possibles dans le volume V

f

= 4⇡R3
f

/3. Alors, le nombre total de réactions est
tel que si la sphère reste homogène du rayon initial pendant le temps t

conf

= R
f

/4c
s

. On l’appelle
le temps de confinement inertiel.

Selon l’équation (2.9), la fraction de combustible brûlée �
B

= N
f

/N
tot

peut être écrite sous la
forme
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Figure 10 – Dépendance du pa-
ramètre de combustion avec la
température pour le mélange DT.

où ⇢
f

= n
i

m
i

est la densité et H
B

= 8m
i

c
s

/h�
DT

vi est une
fonction de température. Par conséquent, la fraction brûlée
et l’énergie de fusion dégagée dépendent de la densité sur-
facique de combustible et de la température. La figure 10
montre la dépendance du paramètre H

B

avec la température
pour la réaction DT. La valeur minimal du paramètre de la
combustion H

B

= 5.15 g/cm2 est atteint pour T = 38 keV.
Il est raisonnable pour des estimations suivantes considérer
H

B

comme une constante ⇠ 6 g/cm2 dans le domaine des
températures de 20 à 80 keV.

La formule (2.10) ne tient compte du fait que le nombre
des noyaux disponibles pour la réaction diminue avec le
temps. Elle donc est valable seulement si ⇢

f

R
f

⌧ H
B

. Pour
tenir compte l’appauvrissement du combustible, regardons
alors un milieu homogène et calculons le nombre des réactions

par unité de volume n
r

. Il dépend de la densité des atomes du deutérium et du tritium disponible
selon la formule suivante :

n
r

= n
D0 � n

D

= n
T0 � n

T

où n
D0 = n

T0 sont les densités initiales des noyaux combustibles. L’évolution de la densité de
combustible avec le temps est décrit par l’équation suivante :

dn
D

dt
= �dn

r

dt
= �n2

D

h�
DT

vi (2.11)

où, en di↵érence de l’équation (2.9), la densité des noyaux de deutérium dépend du temps. La
solution de cette équation pour le cas n

D

= n
T

n
D

(t) =
n
D0

1 + n
D0h�DT

vit
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The calculation didn’t take into acount fuel consumption

Burning fraction in ICF 

27 

nf = nDO − nD
dnf
df

= −
dnD
df

= nD
2 σv

nD (t) = nDO
1+ nDO σv t

tmax = Rf / 4cs                    nDO = ni / 2 = ρ f / 2mi

HB =
8mics
σv

≈  6  g / cm2
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Burning fraction in ICF 

28 

Conventionally we take ρR ≈3 g/cm2 that is 33% burned fuel

nD (tmax ) = nDO
1+ nDO σv Rf / 4cs( )

Φ =
nDO − nD (tmax )

nDO
=1− nD (tmax )

nDO
=1− 1

1+ nDO σv Rf / 4cs( )

=1− 1
1i + ρ / 2mi( ) σv Rf / 4cs( )

=1− 1
1+ ρRf /HB

         

=
1+ ρRf /HB( )−1

1+ ρRf /HB

=
ρRf /HB

1+ ρRf /HB

=
ρRf

HB + ρRf

≈
ρRf

ρRf + 6

HB =
8mics
σv
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ICF typical targets

29 

External radius ≈ mm                          DT mass ≈ mg

“Ablator” 
(plastics, SiO2, Be, Diamond)

DT ice (ρ = 0.25 g/cm3)
“Fuel” “Sgell”

DT gas
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INITIAL CONDITIONS
CRYOGENIC SHELL
- Rin ≈  2 mm,  Rin / Δr ≈ 60 (Δr ≈ 33 µm) 
- V ≈  4 π Rin

2 Δr ≈ 1.6  10-3 cm3

- ρin ≈ 2.5 ×  0.2 g/ cm3, M ≈ 0.85 mg

FINAL CONDITIONS
- ρfin /  ρin ≈ 1000
- ρfin ≈ 500 g/ cm3

- Rfin ≈  74 µm
- ρfin Rfin ≈ 3.7 g/ cm2

30 

ICF typical targets

Compressed fuel
Hot spot
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Some orders of magnitude

31 

If 
tlaser ≈ timplosion ≈ 10 ns
IL ≈ 3 1014 W/cm2

R≈2mm

Then
S=0.5 cm2
Elaser = ILtlaserS=1.5 MJ
Vimplosion = 2 mm/10 ns 
        =200 µm/ns  = 200 km/s
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Space-time plot

32 

1     2                 3       4         5

1 ablation and acceleration     
2 implosion (almost constant velocity)
3 deceleration      
4 stagnation (creation of hot spot)       
5 explosion
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INITIAL CONDITIONS
CRYOGENIC SHELL
- Rin ≈  2 mm,  Rin / Δr ≈ 60 (Δr ≈ 33 µm) 
- V ≈  4 π Rin

2 Δr ≈ 1.6  10-3 cm3

- ρin ≈ 2.5 ×  0.2 g/ cm3, M ≈ 0.85 mg

Total number of ions NDT  ≈ 2 1020

If Tfin ≈ 10 keV, total thermal energy in fuel E ≈ 2 (3/2 NDT T) ≈ 1 MJ !!

Why do we need a hot spot?

FINAL CONDITIONS
- ρfin /  ρin ≈ 1000
- ρfin ≈ 500 g/ cm3

- Rfin ≈  74 µm
- ρfin Rfin ≈ 3.7 g/ cm2

33 
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Stagnation is reached as the 
pressure of the internal fuel 
increases and gradually slows the 
shell down. 
At stagnation Pshell ≈ Pcentral spot

Produces an Isobaric fuel assembly 
Conversion efficiency from laser ligth to kinetic energy of the shell 
is extremely low ≈ 5 %
Need for High Aspect ratio target and high implosion velocities 
V ~400 km/s 

 

“Isobaric” approach to ICF

Kinetic Energy of (remaining) imploding 
shell is converted in:
-  Compression of the fuel in the shell
-  Heating of the central has

34 

p 

ρ r 
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The imploding shell has two functions: (a) heating of the central  
low-density plasma (hot spot) to ignition temperatures,  
(b) providing the “inertial” confinement 

2
i

shell
unablatedVM

2
1 ~50% 

~50% 

Compression and heating of the central hot spot 
(equivalent to the MFE heating input energy 
 coupled to the plasma) 
Compression of the dense shell to provide the “inertial” 
 confinement (similar role to the magnetic field in MFE) 
  

Hot spot 
5-10 KeV 

Dense shell 
~ 500-1000 g/cc 

Provides the confinement 
of the hot spot (and more) 

Ignition takes place 
 in the hot spot 

COMPRESSED CORE AT STAGNATION (NIF-like, 1MJ) 

Dense 
shell 

Useful kinetic energy 

FSC 

NIF-like target (1 MJ)

SHELL
- ρfin Rfin ≈ 103  g/ cm3 × 40 µm 

= 4 g/ cm2  
-ni ≈ 5 1026 cm-3

HOT SPOT
- ρfin Rfin ≈ 130  g/ cm3 × 22 µm 

= 0.3 g/ cm2  

PRESSURE
- P ≈ 300 GBar

ne  = ni  = 4.8ρ    1023cm−3

P(Bar) =1.8  10−18   nTOT (cm−3) Te(eV )
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Notice:
Ablation Pressure P  ≈ 50 MBar

Pressure at stagnation P  ≈ 50 Gbar

Amplification of a factor × 1000 due to convergence. 

Spherical geometry is essential for ignition

Spherical geometry

36 
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The compressed shell is a dense degenerate plasma 
 
 
 
 
 
 
 
 
 
 
“entropy parameter” 
 
                                                                p=α AF ρ5/3 

 
The hot spot is a hot classical plasma

Energy balance in the fuel
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densité n devient importants si la température soit inférieure de la température de dégénérescence,
ou la température de Fermi,

T
F

= (3⇡2n)2/3~2/2m,

où ~ est la constante de Planck. Évidemment, que la dégénérescence est plus importante pour les
électrons que les ions. Dans le cas de mélange DT, la température de dégénérescence des électrons
s’écrit T

F

' 14 ⇢2/3 eV, où la densité massique ⇢ est en g/cm3. Donc, pour le combustible comprimé,
la température de Fermi est de l’ordre d’un keV et ces sont les électrons que dominent la pression,
p
F

= 2
5ne

T
F

. Dans les unités convenables

p
F

= A
F

⇢5/3 = 2.16 ⇢5/3Mbar. (2.14)

Pour tenir compte du fait que la température n’est pas tout à fait zéro et que l’agitation thermique
contribue aussi à la pression, on introduit le paramètre d’entropie, ↵ = p/p

F

, et pour les estimations
ci-dessous nous supposerons que ↵ est une constante, laquelle n’est pas très di↵érente de l’unité.
Dans les expériences actuelles la valeur ↵ ⇠ 3 a été mesurée.

L’énergie nécessaire pour la compression du combustible s’écrit :

Ecompr =

Z
V0

Vf

p dV = ↵M
f

Z
⇢f

⇢0

p
F

⇢2
d⇢ ' 3

2
↵M

f

A
F

⇢
2/3
f

= 0.35↵M
f

⇢
2/3
f

MJ. (2.15)

En faisant la comparaison avec la formule (2.13) on peut conclure que la compression est un procédé
relativement peu cher. La compression mille fois coûte en énergie mille fois moins qu’on peut obtenir
de la fusion. Mais il faut aussi chau↵er le combustible. Puisque la température d’allumage est plus
importante que la température Fermi de la matière comprimée, le modèle d’un gaz parfait est bien
adapté pour décrire le chau↵age. Donc, l’énergie du combustible chau↵é au-dessus de la température
Fermi est proportionnelle à la température du point chaud T

h

:

Echauf =
3

2
(n

e

+ n
D

+ n
T

)T
h

V
h

= 3n
e

T
h

V
h

= 110M
h

TkeV MJ. (2.16)

Ici, nous faisons la distinction entre la masse de combustible totale,M
f

, et la masse chau↵ée,M
h

. La
comparaison de cette formule avec (2.13) et (2.15) montre que le chau↵age est un procédé beaucoup
plus cher que la compression, et il n’est pas raisonnable de chau↵er tout le combustible comprimé.
Il su�t juste déclencher la fusion dans une partie du fuel comprimé et la flamme thermonucléaire
va s’entretenir après elle-même. Autrement dit, l’énergie nécessaire pour le chau↵age de toute la
masse de fuel peut être produite in situ par la combustion elle même, comme une onde détonation
chimique. Cette dernière sera déclenchée par l’allumage d’une proportion réduite du combustible.
Cette partie de la cible chau↵ée à la température d’allumage est appelé le point chaud.

2.3.2 Conditions physiques du point chaud

La taille du point chaud est définie par le critère d’auto-allumage, c’est-à-dire, que l’énergie
des réactions de fusion déposée à l’intérieur du point chaud est supérieure aux pertes de l’énergie.
Notons d’abord, que 80% de l’énergie de fusion est dégagée dans les neutrons avec le parcours
moyen, ⇢ l

n

' 4.7 g/cm2. Cette densité surfacique est plus importante que celle du combustible
froid, et donc, le neutrons quittent la zone de réaction sans perdre l’énergie. Ils seront récupérés à
l’extérieur de la chambre d’interaction dans la zone de protection ou dans la couverture tritigène
du réacteur.
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densité n devient importants si la température soit inférieure de la température de dégénérescence,
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L’énergie nécessaire pour la compression du combustible s’écrit :
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des réactions de fusion déposée à l’intérieur du point chaud est supérieure aux pertes de l’énergie.
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Fermi est proportionnelle à la température du point chaud T

h

:

Echauf =
3

2
(n

e

+ n
D

+ n
T

)T
h

V
h

= 3n
e

T
h

V
h

= 110M
h

TkeV MJ. (2.16)

Ici, nous faisons la distinction entre la masse de combustible totale,M
f

, et la masse chau↵ée,M
h

. La
comparaison de cette formule avec (2.13) et (2.15) montre que le chau↵age est un procédé beaucoup
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Ici, nous faisons la distinction entre la masse de combustible totale,M
f

, et la masse chau↵ée,M
h

. La
comparaison de cette formule avec (2.13) et (2.15) montre que le chau↵age est un procédé beaucoup
plus cher que la compression, et il n’est pas raisonnable de chau↵er tout le combustible comprimé.
Il su�t juste déclencher la fusion dans une partie du fuel comprimé et la flamme thermonucléaire
va s’entretenir après elle-même. Autrement dit, l’énergie nécessaire pour le chau↵age de toute la
masse de fuel peut être produite in situ par la combustion elle même, comme une onde détonation
chimique. Cette dernière sera déclenchée par l’allumage d’une proportion réduite du combustible.
Cette partie de la cible chau↵ée à la température d’allumage est appelé le point chaud.

2.3.2 Conditions physiques du point chaud

La taille du point chaud est définie par le critère d’auto-allumage, c’est-à-dire, que l’énergie
des réactions de fusion déposée à l’intérieur du point chaud est supérieure aux pertes de l’énergie.
Notons d’abord, que 80% de l’énergie de fusion est dégagée dans les neutrons avec le parcours
moyen, ⇢ l

n

' 4.7 g/cm2. Cette densité surfacique est plus importante que celle du combustible
froid, et donc, le neutrons quittent la zone de réaction sans perdre l’énergie. Ils seront récupérés à
l’extérieur de la chambre d’interaction dans la zone de protection ou dans la couverture tritigène
du réacteur.
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The compressed shell is a dense degenerate plasma 
 
 
 
 
 
The hot spot is a hot classical plasma

Energy balance in the fuel
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densité n devient importants si la température soit inférieure de la température de dégénérescence,
ou la température de Fermi,

T
F

= (3⇡2n)2/3~2/2m,

où ~ est la constante de Planck. Évidemment, que la dégénérescence est plus importante pour les
électrons que les ions. Dans le cas de mélange DT, la température de dégénérescence des électrons
s’écrit T

F

' 14 ⇢2/3 eV, où la densité massique ⇢ est en g/cm3. Donc, pour le combustible comprimé,
la température de Fermi est de l’ordre d’un keV et ces sont les électrons que dominent la pression,
p
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. Dans les unités convenables

p
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⇢5/3 = 2.16 ⇢5/3Mbar. (2.14)

Pour tenir compte du fait que la température n’est pas tout à fait zéro et que l’agitation thermique
contribue aussi à la pression, on introduit le paramètre d’entropie, ↵ = p/p

F

, et pour les estimations
ci-dessous nous supposerons que ↵ est une constante, laquelle n’est pas très di↵érente de l’unité.
Dans les expériences actuelles la valeur ↵ ⇠ 3 a été mesurée.
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En faisant la comparaison avec la formule (2.13) on peut conclure que la compression est un procédé
relativement peu cher. La compression mille fois coûte en énergie mille fois moins qu’on peut obtenir
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La taille du point chaud est définie par le critère d’auto-allumage, c’est-à-dire, que l’énergie
des réactions de fusion déposée à l’intérieur du point chaud est supérieure aux pertes de l’énergie.
Notons d’abord, que 80% de l’énergie de fusion est dégagée dans les neutrons avec le parcours
moyen, ⇢ l
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' 4.7 g/cm2. Cette densité surfacique est plus importante que celle du combustible
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plus cher que la compression, et il n’est pas raisonnable de chau↵er tout le combustible comprimé.
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Figure 2: Range of fast alpha particles in a homogenous medium. The red curve is calculated

assuming only collisions with electrons. The black curve is calculated assuming collisions with both

electrons and ions, but the appropriate limits of the Chandresekhar functions have been taken. The

blue curve is calculated the same as the black, but without the simpliÖcations of the Chandresekhar

functions and with Ti = 10 KeV.
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where A and B are again deÖned as useful dimensionless parameters. The stopping time is found

by Önding the time at which the alpha particle velocity becomes zero,  (ts) = 0.

ts =
1

3BT
ln

"
A+ 3o


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α particle range in ICF plasma 

To get Ra ≈ 10 µm, one needs ρ ≈ 500 g/cm3 
In this case α particles are confined within the plasma and 
contribute to its heating

Ra =
c

2T ln (e)

p
mc2Eo

(mec2)
5=2

T 3=2e (140)

As can be seen from the deÖnition, the quantity A can be thought of as a measure of the importance

of the ions on an alpha slowing down. If the ions are ignored, then A) 0, and the range is given

by eq.(140). If an equi-molar mixture of DT is assumed, this range becomes

Ra = 0:107
T
3=2
e

 ln ()
[cm] (141)

where ne = NA=2:5 was used (assuming pure 50/50 DT plasma). This is precisely the value

given in Atzeni eq.(4.6), (Atzeni & Meyer-Ter-Vehn 2007). A plot of the range as determined by

both eq.(135) and eq.(140) is shown in Ögure (2) for nD = nT = 6  1024#=cc,  = 50g=cc, and

Ti = 100.

As can be seen, the range calculated including thermal ion collisions is much shorter than

otherwise, especially as Te gets large. The range as calculated by numerically integrating eq.(124),

using the Chandrasekhar functions, lies directly on top of the black curve when Ti = 100. It lies

slightly above the black curve for Ti = 10. This shows that for these parameters, the approximate

slowing down equation resulting from taking the appropriate limits of the Chandrasekhar function

is very accurate. This also shows that while the range is very dependent on whether or not ions

are included in the slowing down equation, it varies little with ion temperature.

An expression for the velocity as a function of time can similarly be found. Taking the appro-

priate limits of the Chandrasekhar function, eq.(121) becomes


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This equation can be integrated resulting in

 (t) =

A+ 3o


exp (3BT t)A

1=3
(143)
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Assuming 50/50 DT 
plasma (Te in keV, ρ in 
g/cm3). The plot of the 
range is shown in figure 
for  ρ = 50 g/cm3 and 
Ti= 100 keV
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Lessons from History …

Early predictions for laser ignition were ~1kJ   [Nuckolls]

•  What was wrong?
–  Very strong sensitivity to implosion velocity
–  Optimistic assessment of hydro instability growth
–  Assumption of high coupling efficiency at high laser irradiance

Note: estimates for high gain have remained ~ constant (at ~MJ),  
as much weaker dependence on implosion velocity 

Laser Compression of Matter to Super-High Densities: Thermonuclear (CTR) Applications 
JOHN NUCKOLLS, LOWELL WOOD, ALBERT THIESSEN & GEORGE ZIMMERMAN 
University of California Lawrence Livermore Laboratory

Nature 239, 139 - 142 (15 September 1972)
 Hydrogen may be compressed to more than 10,000 times liquid density by an implosion system 
energized by a high energy laser. This scheme makes possible efficient thermonuclear burn of small 
pellets of heavy hydrogen isotopes, and makes feasible fusion power reactors using practical lasers. 

40 



D.Batani, 1. Introduction to Fusion, 201641 

Absorption ruled out IR lasers

Laser Matter Interaction prohibits large intensities (low 
absorption, high preheating)
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Rayleigh-Taylor Instability:

42 
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Rayleigh-Taylor Instability:

43 

Use Fourier expansion (we write a 
sinusoidal perturbation).���
Here A(x,t) = AO cos (kx - ωt)

The equation of dynamics bring to write 
a dispersion relation ε(ω,t) =0

If ω is real stable behaviour (wave which is eventually damped 
and dies away)
If ω = iγ is imaginary then the perturbation grows like 
A(x,t) = AO cos (kx) eγt
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Rayleigh-Taylor Instability:

44 

γ = Akg

A = ρ2 − ρ1
ρ2 − ρ1

γ =
Akg
1+ kL

−βkvabl

“Classical” growth rate (linear phase)

Atwood number (instable if ρ1<ρ2)

Modified “Takabe” expression. L plasma density gradient

2.1 21

Laser, X Va

a) b)
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Fig. 2.2 – a) Profils typiques de densité et pression au front d’ablation (figure extraite de
[15]). b) Taux de croissance comparés de l’IRT classique et ablative. Dans le cas ablatif,
les paramètres caractéristiques sont g = 140 µm.ns�2 et Va = 3.2 µm.ns�1.

et le taux de croissance de l’IRT ablative s’en trouve réduit :

�abl =
p

AT gk � kVa (2.4)

Cette formule analytique de la réduction du taux de croissance due à l’ablation est voisine
de la formule de Takabe obtenue par le biais d’un fit numérique [16]. Si l’on inclut les e↵ets
de gradient de densité, l’expression communément admise s’exprime selon la formule de
Takabe modifiée [17] :

�abl = ↵

r
gk

1 + kLm

� �kVa (2.5)

où ↵ et � sont des constantes numériques qui dépendent du schéma d’implosion, attaque
directe ou indirecte. A titre illustratif, les taux de croissance de l’IRT classique et d’un
cas d’IRT ablative sont tracés sur la figure 2.2. Alors que dans le cas classique, toutes les
perturbations sont amplifiées quelque soit leur longueur d’onde, le processus d’ablation
stabilise l’IRT vis à vis des courtes longueurs d’onde.

2.1.3 Expression générale et cas limite

Un modèle auto-consistent du taux de croissance de l’IRT ablative a été formulé
par Betti et Goncharov [18]. Le taux de croissance �abl dépend de l’épaisseur du front
d’ablation L0, de la vitesse d’ablation Va, du coe�cient e↵ectif ⌫ de la dépendance en
température de la conduction thermique ( ⇡ T ⌫), et du nombre de Froude Fr = V 2

a

gL0
.

Le nombre de Froude détermine la croissance des petites longueurs d’ondes, et di↵érencie
en particulier le cas de l’attaque directe et le cas de l’attaque indirecte. En l’absence

γ (ns-1)
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Rayleigh-Taylor Instability

•  Major instability:���
heavy material pushes ���
on low density one���

•  Will always occur since 
driver is never���
100% symmetric���

•  The Rayleigh-Taylor 
instability always grows

Ø Energy must be delivered as sysmmetric as possible!
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Rayleigh-Taylor Instability – ���
spherical implosions / 

explosions

Ø Energy must be delivered as sysmmetric as possible!
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Good news:
Experiments with GEKKO XII laser, Institute of Laser Engineering, 
University of Osaka, Japan

Experimental demonstration of compression of DT up to 600 × solid 
density (Azechi et al., Las. Part. Beams, 1991)  

WE ARE ABLE TO OBTAIN DENSITIES DIRECTLY RELEVANT FOR 
ICF!

However: number of neutrons much smaller than expected: The 
central hot spot was not generated

47 
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- synchronized laser pulses with spherical irradiation symmetry 
- shock wave compression (up to 1000 × solid density)
- ignition from a central hot spark produced by shock coalescence
- isobaric approach

Lawson’s Criterium (buring criterum) for ignition (D-T): ρR > 3 gcm-2 
and  T ≈ 5 - 10 keV  

ICF: direct drive approach

I ≈ 1014 W/cm2  10 ns

48 



D.Batani, 1. Introduction to Fusion, 2016

ΔRfin

Rfin

≈ 50%⇒
ΔI
I
≈1%

Problems of classical scheme:

Mixing of fuel and wall, higher Z*, increased 
emission and cooling 
The central hot spot is not generated

Non uniformities in laser irradiation or 
in target bring to:

ΔRfin

Rfin

≈
Δv
Rfin

timp ≈
Rin
Rfin

Δv
vimp

≈
Rin
Rfin

ΔI
I

Then:

49 
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How to relax uniformity constraints for ICF?

Ø USE INDIRECT DRIVE

Ø USE OPTICAL SMOOTHING

Ø USE OF “FOAM BUFFERED TARGETS”
Willi et al., Phys. Rev.Lett.,1995

Ø SEPARATE COMPRESSION AND IGNITION
Fast Ignition
Tabak et al., Phys. Plasmas, 1994

Shock Ignition
R. Betti, et al. Phys. Rev. Lett.,  2007
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Direct: higher efficiency, more problems with uniformity  
 
Indirect: better uniformity but reduction of efficiency 
 
In both case you need MJ-class laser systems 

51 

Inertial confinement: direct 
vs. indirect drive



D.Batani, 1. Introduction to Fusion, 201652 

Targets
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National Ignition Facility (NIF) - layout
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Indirect drive 
 
-  Chamber 
-  Target holder 
-  Hohlraum 
-  Pellet 

54 

NIF
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Lasers - NIF and Megajoule:

Controlled Thermonuclear Fusion

Nd:glass
2 MJ
10 ns
200 beams

55 
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Optical smoothing techniques:
Optical smoothing techniques (RPP, ISI, SSD..) introduced 
(80's, 90's) to produce "gaussian” beam profiles with 
small scale modulations

2D square elements with  0 or π dephasing  (Kato, PRL, 1984) 

Small scale modulations are rapidly washed out by thermal smoothing

LASER 

Random Phase Plate Φ ≈ 0.9   λ f /d 
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Thermal smoothing:

Γ ≈ exp [ - α L (2π / λperp )]

Non-uniformities present at the laser absorption surface are 
reduced at the ablation surface by

L “stand-off distance”

Laser is absorbed at the absorption front but pressure is applied 
at the ablation front

Overcritical
region

Dense region
(ne > nsol)

Corona
(ne < ncrit)

Absorption frontAblation front λe

L

57 

ΔP / P  ≈ Γ ΔI / I  
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Foam buffered targets:

FOAMPAYLOAD
Au

(Dunne et al., PRL 1995)

OPEN QUESTIONS: 
! Optimal parameters of foam and converter

!  What λperp? 
!  Effects on hydrodynamics? Shock heating of DT? 

CREATE A SUPERCRITICAL AND SUFFICIENTLY WIDE PLASMA
IN FRONT OF THE TARGET

58 
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Inertial Fusion- Fast Ignition 
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Ø 1: “normal” compression with ns laser beams (we are able to 
compress!)

Ø 2: a CPA laser  creates a beam of relativistic electrons (lateral hot 
spot)

Ø Typical parameters: E ≈ 10 kJ,  Δt ≈ 10 ps, R ≈ 10µm, Efast ≈ 1  MeV 

The concept of“fast ignition”

DT fuel

Fast electrons

Laser pulse

60 
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High-intensity lasers (high energy – short pulse) 
Laser-plasma interaction in the “relativistic 
regime”
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Evolution of laser performance: 

62 
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Advantage of FI

NIF Point 
design
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Collisional Effects (Stopping Power) 
Electric field effects
Magnetic fields effects

Study of propagation:

Longitudinal electric 
                          field

Azimutal
magnetic field

Fast electron 
trajectories

CPA beam

Collisions

Propagation of fast electrons in matter between nc and 100 nc 
over 200 - 300 µm is critical for the feasibility of fast ignition

NEW PHYSICAL PROBLEM: 
VERY DIFFERENT FROM 
JUST BETHE-BLOCH

64 
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   Use of cone targets 
 
“Cone guided” targets were tested  
at the ILE in Osaka 
 
•  The laser can interact in regions at higher densities 
•  Increment in neutron yield from compressed  
  fusion targets 

65 

R. Kodama et al., Nature 418, 933 (2002) 
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•  Cones do not seem viable for future reactors (same problems 
of ID targets)
•  The presence of the cone may prevent a sufficiently uniform 
compression and produce high-Z pollution
•  How to control electron beam energy?
•  Is there any tools to control electron beam divergence? 

Although  a  very  promising  idea,  FI  is  in  a  “premature”  stage  for 
what  concerns  technological  developments  (we  need  a  100  kJ  - 
10 ps laser beam)
 
[the main issue here is scalability of collective effects…]

Physical issues

66 
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High Aspect ratio target 
V ~400 km/s 

Low AR  V~240 km/s 

450 TW, 1.5MJ pulse 

p 

ρ

Produces an Isobaric fuel 
assembly 

r 

p 

ρ r 

Fuel 
assembly  

is non 
isobaric 

Conventionnal direct drive Low velocity drive 

80 TW, 250 
kJ pulse 

220 TW 
Ignition spike 

A final laser spike launches a converging 
shock 

67 



D.Batani, 1. Introduction to Fusion, 2016

Low AR  V~240 km/s 

p 

ρ r 

Fuel 
assembly  

is non 
isobaric 

Low velocity drive 

80 TW, 250 
kJ pulse 

220 TW 
Ignition spike 

Shock ignition is less sensitive to hydro 
instabilities

68 

In SI, you do not create the hot 
spot with the “main” compression 
beam. Hence you do not need 
such highh implosion velocity. 
Hence you can implode a more 
massive thicker shell which does 
not break due to RT 
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The Ignition shock mitigates  
 RT growth at stagnation
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